
(i)

(i)

(i)

cfr

(i)
(i)

(i)

*2alue of

6. Find — , y =

= 2)at^ = 10.

^TFT

5.  Find the slope of the tangent to the curve y =

x = 10,^^^^ y = —, {x = 2) ^ ^t^ ^snr

2  4
5  1

2  4
5  1

2x  4

2x  4

^TT5T "tITcT

4. Find the value of^.

(SECTION-A)

(^^J^ - 3T)
1.Let * be the binary operation on R defined bya*b = a + b — lab Then find the

^TRT ^T jR ^t XJ^T 2^f^3F^n1^ZT j^^vi|| ^ff a*b — a + b — lab, fTT

4*2 ^R 3TM "5TTcT ^ifofT^ |

2.Find the value of tan"1(-l)

^T^ ^ITcT cPlfalL1 tan"1^!)

3.Construct a 2 x 2 matrix A = [ai/] whose elements are given by aij = 3i + 2/

X?^T 2 x 2 3ll<^M^ A = [aij] ^

ai; = 3i + 2;

01
04

06

-"3T ^ 10 TOT ^^

-^T ^ 12^

^ 7

gtr

TT"3T,29 TOT $",TOT

General Instructions

All questions are compulsory

This question paper consist 29 questions

Divided into three sections - A, B and C

Section - ^A" Comprises of 10 questions bearing 01 mark each.

Section - "B" Comprises of 12 questions bearing 04 marks each.

Section - "C" Comprises of 7 questions bearing 06 marks each.

Time : 3 H )ursMax Marks: 100

Pass Marks: 33

Class-XII

MODEL QUESTION PAPER



(4)

6x + 2,if x>3

14. Find all points of discontinuity of the function / defined by fix) = \ —2x, if -^

6x + 2,if

oft

(4)

(4)

(4)

Pxyz)(x - y)(y - z){z - x)

= (1 + Pxyz)(^ - y)(y - z)(z -

= (a -1)3

1 + Pz3
y2  1 + Py3y

z  z

x x2  1 + Px3

a2 + 2a2a + 1 1
2a+1a + 2   1
33 1

(OR)
X  X21 + PX3
y y21 + Py3
z  z21 + Pz3

Show that

a + 2
3

2a+ 1
a2 + 2a  2a + 1  1

13. Prove that

7  I

(1)

(1)

(1)

(1)

4   2

tan

12. Prove that tan"

a = 2i + 3; - 5k cFTT ^T7q^T b = i + 2]

9.Given \d\ = 10,|b| =• 2 and d.b = 12 Find the value of \dx b\

^f^ |a| = 10^ |b| = 2 3tk a.b = 12 Ht {a x bl Ft ^ttst "5TTcT
10.Find the Cartesian equation of the plane whose vector equation is f. (3i + 4/ — E

3^T ^^̂^ ^T ^*Trff^ ^^li<^>^>J| "^flcT ^vt fo^t^> ^T^^^T ^lrflh<u| ^" f. (3t + 4/ -

(SECTION - B)
(^s|u^ - ^"^

11.If/: i? - i^ by given by /(x) = X2 - 3x + 2 Then find the value of/o/(x).

R -> i^ /(x) = X2 - 3x + 2 ^

^8. Find the projection of the vector a = 2i + 3^ — 5 k on the vector b = i + 2) f- k

7. Find the value of j^C0SX + Silix)2. dx.

J(Cosx + Sinx)2. dx.

y = cos{Sin(logx)}dv
—
ax



(4)

(4)

(4)

(4)

y Co-

(4)

(4)

20. Using vector method, find the area of the triangle whose Vertices are

,l) B(l,2,3) andC(2,3,l)

.dxJ^TTcT

3(Sinx + 3yfCosx

5-^-

(OR)

Evaluate/2X2C0SX.dx
•'0

^TT5T "5TTcT <lfoKJ   f 2 X2COSX. dx

Jy/Sinx^
•^,     —  .ax

•12

x4-x2-12
18. Find the value of f —

J v-4

x2+2x+3
^^  f  x+2

^TT5T "^TTcT Kn^i^ I —z
J x2+2x+3

x+2
17. Find the value of J

^TT ^^ld^ld
3

= X4 — —aid-lid "^HcT

/hich th16. A particle moves along the curve 6y = X3 + 2 Find the Points on the curve at

Ordinate is changing 8 times as fast as the x Co-Ordinates.

6y = x3 + 2 ^ 3ieri*ici ^rfrt

(OR)
x^

Find the interval in which the function fix) — X — — is increasing or decreasin

(OR)
if xy + y^ = 4, Then f ind the ^

= a5m2t(l + Coslt) F^IT y = bCos2t(l - Coslt) eft
a

15. If x = aSin2t{l + Cos2t) and y = bCos2t(l - Cos2t) Then show that

dyb



r 1     3  -2n

-3 0 -5
[ 2    5   0.

(6)

^ations)23. Find the inverse of the following matrix by using elementary transformations (op

r 1    3-2]
-3 0  -5

L2  5  0 J

(SECTION-C)

2)

n B) =\ ^, cfr
1U

^
^

2) ^6

9

(4)

r3TT |T

greater than 9,

•3)

(OR)
lfP(4) =^p(^) = and P(4 flB) = ^Then find the value of

nd (5,3

22. A black and a red die rolled. Find the conditional probability of obtaining a sum

given that black die resulted in a 5.

(2,5,-3)(-2,-3,5)cT81T (5,3,-3)

f = (5t - 2k) + m(3i + 2; + 6k)

(OR)
Find the equation of the plane that passes through the points (2,5, —3)(—2, —3,5)

(4)

^^^^

B(l,2,3) H2TT C(2,3,l) 

21. Find the angle between the following Pair of lines

f = (3t + 2) - 4k) + y(l+ 2; + 26)

r = (5? - 2k) + /x(3t + 2; + 6k)

^^ ^^ "5TfcT

^^^^

7



a diamond.  (6)

^rcft ^^fTHT %^Tf^t52

and are found to be both diamonds. What is the probability of the lost card bein

)
28. A card from a pack of 52 Card is lost. From the remaining cards of the pack, tw ) cards <ire drawn

r = (i + 2; + 3k) + y(2i + 3/ + 4^) ^^^T r = (2t + 4; + 5^) + t(3i + 4; + 5/

5/)

o^4jddHI",

by:

1) + 3k).+ y(2i + 3; + 4k) and f = (2t + 4/ + 56) + t(3i + 4; + 5/

27. Find the shortest distance between the two lines whose vector equation are give

dy
.-r--dx

= 2y = l

(6

-      (-\
2yey.dx + (y- Ixeyj.dy = 0

(OR)
Solve the following differential equation given that y — 1 when x = 2

dy
^

26. Solve 2yey. dx + f y - 2xey J. dy = 0

f  f_  e^. dx ^ ^T^ ^TTcT

Evaluate L ^X. d^ as the limit of a sum.
0

(OR)

X"V25. Find the area of the smaller region bounded by the ellipse^ — = 1 and the
9    4

[1,5]/(x) = 2x3 - I5x2 + 36* + 1

cTST

(6)

\ function24. Determine the absolute maximum and the absolute minimum values of the followin

fix) = 2x3 - 15x2 + 36x +1  in



x + y >60

^ + 2y < 120

x-2y>0

z = Sx + lOy

(6)

cfr

i)     H^^TcT : 5

ii)     n^ffidH 5

iii)    3rf^l4dH 5

29. Solve the following LPP graphically:

Minimize Z = Sx 4- 10y

Subjected to Constraints

X + y > 60

x + 2y < 120

x — 2y > 0 and x, y > 0

(6)

(OR)
A die is thrown 6 times. If "getting an odd number" is a success. What is the probabifty of ?

i)     5 successes?

ii)     At least 5 successes?

iii)    At most 5 successes?

^^" 6


